AUTO

Sirong

A STRONGHOLD BY PRECISION AND POWER.

= R KER
3-jaw ball swing lock chuck

1. A 5| AT 3eH5 - Mg RRF - AOAMERENE - SO SN IT¥E
BRI ICERRIEME RS £ - ISR ESRFIRE -

2. IRSMERFBER TS - ERBERETUREBINRIMERIGERA
R -

3. I kFHENE R FERUTERBERFAEGHEREMNENSREANRE
REHE - SNTYREFEOTERNENTNFE(EATREFE20°
HER) ©

4. MeEnl R ER) - MEE T KRERAMIERIES) - MAERESE(ER
RATTLAES) -

5. AEBENNEY  FAREREN—RRETFE  w#EELEBME
% BRIREHEEE (lock arm)EMARBHEE - AIBLEEEREA -

70.1
291 569
=
2w
Max,34 32
Min 175 | =
35 | 18 L
[ B 1
e —
i P ﬁ—r;.]_ k-
. _ |5 ST S
M2z / =
rzs_
=—
i
M1
i3

81 : mm

BL-12 175 12.4  40.7(4152)  122(12440) 2.8(28.5) 2800 65 0.18  MS150C BL-12 063-0240 / @127-0305

=MEHTLFKEAE

3-jaw draw down power chuck

1. BB REEERKIFRRBENDEN - BRAREBA LRGN
MI -

2. BUXREGSTHRMEREERL - RERE - BRENH -

3. EHAEGSE  TRBER  IRAEERFNEERBE -

4. EENBEERORBEHRETHS LZHEYE - BERREBENN
ITHEE -

DA
%c
Fw2
PW1

BE{i] : mm
R %
DR-06 10 7.2 15(1530) 25(2549) 2.1(21.4) 3500 15 0.05 MS105C DR-06 J35-0165
DR-08 10 7.2 25(2549)  45(4589) 2.5(25.5) 3000 25 0.14 MS125C DR-08 ©40-0210
DR-10 16 11.6 35(3569) 60(6118) 3.3(34) 2500 46 0.374 MS125C DR-10 050-0254
DR-10D 16 11.6 35(3569) 60(6118) 3.3(34) 2500 46.1 0.376 MS125C DR-10 B54-0254
DR-12 16 11.6 44(4487)  71(7240) 3(30.6) 2000 76 0.88 MS150C DR-12 050-0304

R 1

DR-06
DR-08
DR-10
DR-10D
DR-12

165
210
254
254
304

85 140
90 170
110 220
110 220
125 220

104.78 16 6xM10
133.35 15 6xM12
171.45 23 6xM16
171.45 23 6xM16
171.45 23 6xM16

58

54.4 33

713 67.7 38

878 82 48

102.

5
5
5 854 796 48
5
5

9 971 47

M16x2.0
M20x2.5
M24x3.0
M24x3.0
M27x3.0

37 42
50 60
50 60
52 60

68.6 52.6
725 56.5

20 Meéx12
25 M8x16
30 M8x16
30 M12x18
35 M12x18



